Amplitud de Arcos (1)

Nombre:

Fecha:

Calcule la amplitud angular de cada arco.

Diametro = 278 AU

/ABC =

2942.76 m

Didmetro = 1916 m

/GHJ =

588.77 cm

D

Didmetro = 668 cm

/DEF =

-0 T

R} 12 mi

Didmetro = 4 mi

LRST =
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Amplitud de Arcos (I) Respuestas

Nombre:

Fecha:

Calcule la amplitud angular de cada arco.

Diametro = 278 AU

/ABC = 2£9L 360 = 35°

278Xm

2942.76 m

Didmetro = 1916 m

LGHJ = 24276 5 360 — 176°

588.77 cm

D

Didmetro = 668 cm

/DEF = 28877+ 360 = 101°

668X

7T
Ri12mi
Didmetro = 4 mi

/RST = =12 » 360 = 32.1°

4xm
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